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=> for categorical data E

Data
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Examples~categorical data :

=> Blood Group (A , B ,
0

, AB)

=> Sick /not sick
=> Male/female
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Example A study looked at the effect ofO
OC use on

heart disease in somen (noun)

30 .
The Research found that among (5000)

Current OC users at baseline
, 13 somen developed

Myocardial infarction (MI) over 3years period

wherease among (10000) non-OC users 7

developed an MI over a 3-years period

Asses the statistical significance of the

Results. (use corrected)













② The contingency table
-

⑪ 2X2⑯
CExample observed table

Rt-hand It-hand total

Males 43 9 52
Row marginO

0 , 012

OFemales un U u8 Row margin

021 022

total 87 IOl ⑳
Column column grand
margin margin total

Row I Column/ >







table is equal to
-

*eneral notes
⑪ Always the test is Right

failed test

② test statistics

x = [E
-

E

X - 2t
③ Always the Expected values





the p-value , and then state the

Conclusion about thebull hypothesis .

B x = [(E)
>

E

Malaria present Malaria wasn't
present

254 * 175

Dog 50 ISAs
sasorrect 138 . 91 115

.
09

Dog 66* InS

sas 50
wrong 36 . 09 29 .91

-138.91) -115 . 09)

138 . 91 115 . 09

(52 - 36 .

09)2
&-

29 .91)
= 19 . 49

29 . 91
36 . 09

















NOTES

D The purpose of Contingery table

is to summarize a large set of data

② fore is called Yates-corrected chi

squared.

③ Always the Expected valves are

more than 5

⑪ The
contingey table

is often used

to determine if the two variable have

an association

⑤ Ho : if they are independent



















⑪amples
①P(X >18) [Discrete]

= P(Xy(9)

= P(X-18 . 3)

② P(18(x 26)

= P(19 = X = 2S)

= p(18 .3 = X = 25 .S)

③ p(18 = x (26)

= p(18 = X = 2S)

=p(17 .

S = X = 25 . S)





































































* Confidence interval for Correlation

17
fisher's I

Z (9
, 92)

Transformation

At
-

NOTES

D(1 - a) = CI

② for fisher's I transformation

(t ,, (2)

z = z =E
#3































Test shether the mean differ

Significantly among 3 groups ? (use o .os

& Ho : M ,
=Mz =My Ho : (i = 0 (All)

Js
.

us
. H : M , + Mc +Mz H: di o

-Test
state

=> MSB=BI

SSB = [nijnj:
N

= 69 . 7734 -
)02)

= 0 . 22
9





= (3 - 1)4 . 33 + (3 - 1) x 1 .33 + (3 - 1) * 1

= 13 . 32

F=
=
-11 = 0 . 0495

2 . 22

D. f = k - 1 difn = 2

d . fa = d

D
. = N-K MI0 .95 0 .OS

⑧
4)11I
5 .
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% be accept Ho and Reject
Hi
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